gooboooboooogoooo

gooo

oot odibn

ooooooboboooooboobooboboooboobooooboooooM3aUbOboobOobOobODOOobDODOO

goboobobooboo

e[lJ0000ODOOODOODLDOODO

o[1[]...... ogoo...... goboooobooon
e[100...... gobooboboooo
e[100OOODOOO...... 0.50 5.0mm
eI 0DOODODO...... 3.20
m(JJgoggg

PN-1-1-A 0O

LDDDDDDDDDDDDEDDDDDDDDDDDDD

e[lJ0000Db0bOODbLOODbLOObODDbDOODbLbDOODOO

e[100...... ooooobobooooo
eI 00OUOODOO...... 0.50 5.0mm
eI 0DOODODO...... 3.20
mJ0J0dgog

PN-2-1-A [

gooooobooooon
oooooboooooooo
oobooboooboobooobooobooooobooon
gzioonogood

0 2080

e

=0.5

m]
&

T

|10
‘

250
5 %0
M3P

0.5 ‘ 20

32 10 5.0

PN-1-1-A

Ln
[=]

o
®
=

e

|10
T

0O

10 5.0

PN-1-2-A
T
0
o 7O
~—— 250
S —
T— 2
o
-

10

L
]

| m3p=05
/

/

-

5.0

OoOoono



